?)
3)

)
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Q)
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3)
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(3) IS, TR SMOT RIS fAT=

Jrfas
TR

7RIS fasm=
IR

q) 3rvyfasm=

foRge IfhINATST 3TIfUges SUHSHE aTiRel STIUIR JAUSH e Wieiiclich! v TR T 3TTg 2
9) NfREH-232 R) FEH-233 3) deftRm-3Y43 8) eI H-23%
Which of the following options is INCORRECT as a nuclear fuel used in a nuclear reactor for the

fission process ?
1) Thorium-232 2) Uranium-233 3) Candmium-253 4) Plutonium-239

uert e e Wielich! PIUAT Tehmed §UT 3R M | 3MUgh HaRT IR
3MfUger ARG! HfcTshdT 3R ?

q) ¥ IR JFE Q) THIST MO SRR 3) ST 8) PferT TR

Which of the following components of a nuclear power generation station contains the fuel and
has a nuclear chain reaction with all of the nuclear waste products ?

1) Steam generation unit 2) Turbine and generator

3) Nuclear reactor 4) Cooling tower

WciieTieh! DIV <] JMEia calecst Ui AT wmeficr Afthg orhl FfSE weft amg ?

9) S I9 Q) SReX &9 3) SICTq ¥) fea s

In case of which of the following buses are the voltage magnitude and the active power at the bus
specified ?

1) Load bus 2) Generator bus 3) PQ bus 4) Swing bus

RATeiIeAUeT PO GHATANT AT Hiel ST ATal ?

9) TA-YBR 30T fFAIT-TpR ATeH ?) Jfud PROR |1eH
3) 3cs TRgHe ) fefiteat feear Hicex
Which of the following is NOT considered as an analogue instrument ?
1) Null-type and deflection-type instruments ~ 2) Indicating instrument
3) Inegrating instrument 4) Digital display meter

gTefieTdehl DIV T DVMs it AT 78U bl 37Tg 2

9) 99 379c Aoft R) I uRYul Ireehar

3) SIS HEY BRIT 9 HAT %) JBIAB! DleTSeF AT

Which of the following options is INCORRECT as property of DVMs ?

1) High input range 2) High absolute accuracy

3) Resolution 1 part in million 4) Requirement for calibration from time to time

TE § 9 7T & TAURISRITS! SUgwh TAHUE : AT fas / 4o
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lefiel U var :

a) TTEICT JTURRAT UL € UMD 9R¢E ST e,

b) fegsTmeliel RIS 9]¢E AL ITSIHTSReAT UITeRUNT foh_uid Ics (Radiation) $iTelel AHsTe.

¢) T UehedTd FhIgcal IHANT THE! (Reactor) Y€ FRUANATG! hell ST i,

gt SR :

q) eh UM (a) TR 3L R) UM (a) 3O (b) SRR 3.

3) fau™ (a) 3T (¢) aRIR 31Rd. ¥) fau™ (a), (b) 3T (¢) TRIsR 3.

Observe the following statements :

a) Chernobyl nuclear power accident occured on 26 April 1986.

b) The Scientists from Sweden noticed increasing radiation in the surrounding environment
in1986.

c¢) Graphite was used to cool reactors in Chernobyl plant.

Answer options :

1) Only Statement (a) is correct 2) Statement (a) and (b) are correct

3) Statement (a) and (c) are correct 4) Statement (a), (b) and (c) are correct

) WM
TS WMGATE UBICRID BT 86 BNS ?

q) S THPST Hisdl Ad TH

R) AT RIS Iga”ar HIvH TR S,

3) M wHIfde iR oo

) TR 9 TEI YRSl SHISTET] HeudHl AT FIexl S

Why did the astronomy of Galileo become dangerous ?

1) He could not prepare star charts

2) His observations were responsible for disappearance of man from the moon
3) He offered a natural interpretation

4) He challenged the axioms about the world which the powerful took for granted

WTSISHD! DU [T TRIER 3R 7

q) TErAT 9 GITURIT STRKIT SR 3R SRAATT Fall] bl SATOT JATIRLT DPHIT PHT SR SR
Hatd SR 3R

R) T S QIR SR SRR 3R SRACTT el ST AT IJATIRLT I b SR SR
Fatd HHT AL

3) BT N JGIURT SR STRG g PHHIT DHT SR ST ARG 3R

) TR I GIURLT SR SR g I BHT SR SAAT At STRKT 3R,

Which of the following statement is correct ?

1) The speed of Planet is faster when they are nearer to the sun and slower when they are

farther away from the sun.

2) The speed of Planet is faster when they are farther from the sun and slower when they are
nearer to the sun,

3) The speed of Planet is same when they are nearer to the sun or farther away from the sun.

4) The speed of Planet is faster when they are nearer to the sun or farther away from the sun.

TE § 9 7 & TAURISRITS! SUGwh TAHUE : A fasi / ¢
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3) 3fcRTes faee |, Siidivw, SHamaed
YSAM -3 I TPUT GIAM febell g1 ?
q9) Q¢oo fHT. ?) 3900 fB.I. 3) 3%00 &I ¥) 990 f&H.I.
What was the total mass of Chandrayaan-3 77
1) 2800 Kg 2) 3100 Kg 3) 3900 Kg 4) 4110Kg

S gR ety Qo= HifRclit ST ... 38

9) 900 T 0.9 Ht ) 900 T 0.09 #Ht

3) 9000 d 0 0.9 Ht ¥) 90009 T 00.09 Ay,
GPS position information has the accuracy in between ...........

1) 100 to 0.1m 2) 100 to 0.01m

3) 1000 to 0.1 m 4) 10001 to 0.01 mm

TRIMITENT AT gaTs BRATREUNT 3Mcef SMhR WielleTidh! PHIvET 37T ?

q) 3 X 3 [ R) R X I IAT 3) YR X YR THI  ¥) 3.4 X 3.4 1A
Which of the following is the ideal size for aerial photography in a cartographic camera ?
1) 23X 23 cm 2) 22 X 22cm 3) 59 X 59cm 4) 28.5 X 23.5cm

T T 9eq YT YSHRGR WRIafid /Icasids dfoeaqul Selqgmiicd YfSUueH ey gedit dfer
GG AU FHFIHO! AR ST,

9) FRIShRACTT ) WEdH 3) Ree |f:am ¥) IO

Currently the term is used more commonly to denote identification of earth features by detecting
the characteristic electromagnetic radiation reflected/emitted by earth surface.

1) Bioinformatics 2) Reflection 3) Remote sensing 4) Emission

feRiceT PRI Riicel A=s 1T SaigR Yifae wafrunfasf fvaaia aifgd) fcavarh wer
3nfor s Hfehar Wrefieddh! PIort 31g ?

9) Rere afam Q) eIt d

3) 3JffcHcs ST PwaR Rived ¥) HICHHeH I

Which of the following involve art and scientific processes of obtaining reliable information
about physical environment by remotely sensed analog data in digital format ?

1) Remote sensing 2) Surveying principles

3) Automated data capture system 4) Photogrammetric principles

IRfarcTa=aT Aeuid CBRN 41 31 1 318 ?

) TG MR AU Acdd ) PP v R Acad
3) i, ISR, JS3MellSThel 30T ~fFeRR g) THR Jed SR hHich

What does CBRN stand for in the context of safety?
1) Computer Based Resource Network

2) Chemical Based Risk Network

3) Chemical, Biological, Radiological and Nuclear
4) Critical Basic Risk Number

e § 9 7T & TEURIERTTO! SuYeh FeIE : A s / 4]
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ADAS T 97 3fe¥ AT 9ehife BV KT Uich BHT POl g 3MME. ATHL T AT STIfOT FRIGTA
JUTGtTaT FHIGE 37 S RATeRIA HARATGRIT ATl Aad axaid. ADAS T Jof B0 BT 3118 ?

9) T 9 TERT HUTTett Q) IS T JUETT T

3) I gIeER e Yulleil ) 3ffcl I AR Hoe!

The main goal of ADAS is to reduce road risks that are caused by human factors. It includes
advanced technologies and safety systems that assist drivers during road journeys. What is the
full form of ADAS?

1) Advanced Drone Assistance System 2) Anti Drag Accident System

3) Advanced Driver Assistance Systems  4) Auto Drone Assistance System

Qe PIvr e deg 3 ?

q) AT T U, IBR SCreAl ARG FRISUTEIRIF, Siegl |dedt FRigbre fedm gedrd
degl TifcT 31fereh FESTau FE bl ST,

R) AT FHER, gdTs BRITRARAT AR FRISUIEIT, Siegl AaedT FRISHIRIT & STard
degT TferT 31ftreh FESTI T bl ST,

3) Ueb AT I FgUH, AecRUder 33 <1 PRIGUIGRRIM, Siegl ATaed FRISpTIRIT R ST degl
TferT 31ftreh FESTIU FE bl SN,

8) AMFG PR, g5 BRIREARIT ARRDIe FRIGUEIH, Siegl Adedl ARl e
IS i@l T 3ffeieh AZSTI0l TE hedl ST,

Which of the following statements is TRUE ?

1) As a general rule, during monoscopic observation of radar data, images are more easily
interpreted when shadows fall towards the observer.

2) As a general rule, during monoscopic observation of aerial photographs, images are more
easily interpreted when shadows fall aways from the observer.

3) As a general rule, during the observation of multispectral FCC, images are more easily
interpreted when shadows fall away from the observer.

4) As a general rule, during monoscopic observation of aerial photographs, images are more
easily interpreted when shadows fall towards the observer.

........... T QF JeTHd | SRIAI: | Sheled] gals BRI fhal SUuig Ui Suig, sfieededT
STt fergrd foham Sich FaEtensur, ST Uftheh fobar ereq auie ST 4 e =, Pral gaeiR i,
1 ARt fohar aRfRde TfcmT siesavar afdrg.

9) T SRS P Q) BICIH 3) SAleRalfaT & g) ReRai-Siel
A, consists of two basics part : A collection of annotated aerial photographs or satellite

image, illustrative of the features or conditions to be identified, and a graphic or word description
that sets forth in some systematic manner, the image recognition characteristic of those features
or conditions.

1) Image interpretation key 2) Photogram

3) Overlapping area 4) Stereo-pair

TE § 9 7 & TAURISRITS! SUgwh TAHUE : A fasi / €0
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90) Wreflerdd PIor faer™ TRUE Sl amR for Sl USGS anffenor yonefiea sgnia e 3ig ?

10)

99)

1)

)

12)

93)

13)

9) Relcel! TS STT aTIRe TIIIRUT 3Thrd! b Ut A 4% SRl
?) Relcelt d=re a1 e ToElaRyT Srehad! P uTde! R Q4% AT,
3) SHITEPRUT YUTTel! ST &3fIeR SR STATell.

¥) 9T 3RS dIcgl SIBFIET tch Uehd dTaR 3NosRdedT STl

Which of the following statement is TRUE with respect to USGS land use and land cover

classification system ?

1) The minimum level of interpretation accuracy using remotely sensed data should be at least
85%.

2) The minimum level of interpretation accuracy using remotely sensed data should be at least
95%.

3) The classification system should be applicable over small areas.

4) Only single use of land should be recognized when possible.

IWE AR TIR dheled] YR FhIamed, Tq@ ot Aol ... URYT 3R Ml

q) Fral fhamiex O dde! fhamicR afiet R) PRl Hiex T QAehel Hiex A

3) 900 fheAeR T BRI fhatlHieR et 8) PTar Hiex o Ggl fhelmicR afdt

In a lineament map prepared from satellite imagery, the Major lineaments can range from .......
1) A few kilometers to hundreds of kilometers in length

2) A few meters to hundreds of meters in length

3) 100 kilometers to thousands-of kilometers in length

4) A few meters to Ten Kilometers in length

IRS-ID LISS-TI =Rz quishtiiy St awvetiell 3MTad

9) 0.43-0.4% HREHHE ) 0.80-0.40 HRIPM 3) 0.42-0.Y4% HRHF ¥) 0.43-0.4% HRIHA
0.€3-0.§¢ HIIHH 0.49-0.50 HRIHIA 0.6-0.€¢ AP  0.§2-0.€¢ HRIHH
0.99—0.¢§ HRIHIA 0.€9-0.90 HRIHIF 0.90-0.40 HRIHIF 0.99—0.¢§ TR
9.44-9.90 HIIhH 0.99-9.90 HIIhH 9.90-9.¢0 HIIhH 9.¢0-3.80 HIIhH

The wavelength of the spectral bands of IRS-ID LISS-III sensor are :

1) 0.52-0.59 microns 2) 0.40-0.50 microns 3) 0.52-0.59 microns 4) 0.52-0.59 microns
0.62-0.68 microns 0.51-0.60 microns 0.62-0.68 microns 0.62-0.68 microns

0.77-0.86 microns 0.61-0.70 microns 0.70-0.80 microns 0.77-0.86 microns
1.55-1.70 microns 0.71-1.10 microns 1.10-1.80 microns 1.80-2.40 microns

RIS UeHe gelepIH, ifeaehia aRATUMHD gElepI AfOT feferermifiees gl a1 GIS ardRe
fISTNUT PRUGRATS! ATIReAT ATUM=AT UGt 37T,

) G Q) M A8 3) Wiec AU ) Fgeh HUT
Heuristic qualitative approach, statistical quantitative approach and deleterministic approach are
the methodologies used to analyze .......... using GIS.

1) Landslides 2) Urban growth 3) Fault mapping 4) Joint mapping

e § 9 7T & GEUIERTTON SuYh FTRIIE : T A= / €9
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98) URUIR® FCC 5T Wielleldh! v e sRieR 3 ?

14)

94)

15)

g)

16)

9) Wiear AT ARSI, I9 Sde—37aRth WRIaddd] 3lel o8 e feadd, S9 ofiet WRiad
3Relel &Y iR ferara onifr 99 fokd R sRielel 16 el fdId, 31el YR 3dedTell
AR WIC ATGIPRYT A,

Q) Wi [T AHHM, I¢ Saw-3fach WA 3felell ded el [GAdId, I dlel WRdciahal
3Rl A& Q' el feaaTd, i I et uRracianaT aRfelelt @1edl e fo=aaT, arem W
NIl AL Wi ATGIDPRYT sl

3) WicaT AT ARSI, I9 STa5—37aRch IRIadDhdl 3RTelel] e olel feqdrd, 39 oflel URTachdl
IRTetel! e feRelt feara anfor = faRelt wRraciedr sRielel @1ed o8 ST, 31em TR 3ueTel
AR WIC ATGIPRYT A,

) Gl AT IS, $9 Sae—3avch URIdddhdl 3Riciel! o1&l oiet fCadId, S oflel WRIdciehdT
3Rl e e olle fodTd SMiftr S feRelt wRTeciend sRiciell d1ed ferelt faqdTd, 31em uepR
3T & ST W1 AUl fesd. .

Which of the following statement is CORRECT about a conventional FCC ?

1) In a false colour composite, targets with high near-infraed reflectance appear blue, those with
a high red reflectance appear green, and those with a high green reflectance appear red, thus
giving us a "false" presentaiton of the targets.

2) In a false colour composite, targets with high near-infrared reflectance appear red, those with
a high red reflectance also appear red, and those with a high green reflectance appear blue,
thus giving us a "false" presentation of the targets:

3) In a false colour composite, targets with high near-infrared reflectance appear red, those with
a high red reflectance appear green, and those with a high green reflectance appear blue, thus
giving us a "false" presentation of the targets.

4) In a false colour composite, targets with high near-infrared reflectance appear red, those with
a high red reflectance also appear red, and those with a high green reflectance appear green,
thus giving us a "false" presentation of the t argets.

GIS, 7, fSiersied =, arcsnap ARSI oovverenees

9) an =T 2GS ARKICAN SFeteT dMY &R U PRUIRT AT ol

R) PHMET Aae SFRcaTT 3fetedT STl 19 PRUIRT ST <al
3) an are T IC ST 3Med oR 1T PRUIT WA <

8) an 91 TG SRR SRICIeAT HHFR 10 HRUIRT STA o
In GIS, during digitization, arcsnap tolerance .............

1) Allows the end of an are to be snapped to an existing arc

2) Dis-allows the end of an arc to be snapped to an existing are

3) Allows the end of an are to be snapped to the adjacent are

4) Allows the mid-point of an are to be snapped to an existing arc.

GIS, 78, ..o gl e ST g Hifffies AR au HRUIRITGT aTRet! ST St aRacHid
SGeTd AR SO A= HUMGHIRET ¥&ds 3Ted.

q) fratepifen R) TS 3) fiie E)RENERI

InGIS, ..ccooeeeies 1s the term used to describe the geometric characteristics of objects which do
not change under transformations and are independent of an co-ordinate system.

1) Geocoding 2) Topology 3) Grid 4) Attribute

e § 9 7T & QEURIERTTO! SuYwh FeTE : = st / &2
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aiifeeepet afdr NIR e aroRed NDVI HIGUarTet @iefieiich! Piurht dgd AW 31e ?
9) NDVI=(fgRar - arer) (fgRar + olrel) ?) NDVI=(NIR - GREEN) (NIR + GREEN)
3) NDV=(NIR + RED) (NIR - RED) 8) NDVI=(NIR - RED) (NIR + RED)
Which of the following is the correct method to derive NDVI using the optical and NIR bands ?
1) NDVI=(GREEN - RED) (GREEN + RED) 2) NDVI=(NIR - GREEN) (NIR + GREEN)
3) NDVI=(NIR + RED) (NIR - RED) 4) NDVI=(NIR - RED) (NIR + RED)

dledc 9 T MSS T aiTelidl 95 3ed:
9) 0.4-0.¢ HRIHM Q) 0.8-0.4 HIIHH 3) 0.9-0.4 H¥PHE  ¥) 0.4-0.§ HRIDHA

0.€£-0.9 HARIhIA 0.€£-0.9 HARIhIA 0.4-0.5 HRIhIA 0.€£-0.9 HARIhIA
0.9—0.¢ HIIhIA 0.9—0.¢ HIIhIA 0.£-0.9 HARIhIA 0.9—0.¢ HIhIA
0.¢0-9.9 HIhIA 0.£0-0.¢¢ HIIhIA 0.9—0.¢ HIIhIA 9.44 — 9.09 ,HRIHH

The wavelength bands of MSS of Landsat 1 are :
1) 0.5-0.6 microns 2) 0.4-0.5 microns 3) 0.4-0.5 microns 4) 0.5-0.6 microns

0.6-0.7 microns 0.6-0.7 microns 0.5-0.6 microns 0.6-0.7 microns
0.6-0.7 microns 0.7-0.8 microns 0.7-0.8 microns 0.7-0.8 microns
0.80-1.1 microns 0.80-0.88 microns 0.7-0.8 microns 1.55 - 1.77 ,microns

GTeficTidh! DI HHR A -d1e RS- Sumgien Jfesimfcsd Refeggelt amg Jedid ?
WiF

9) LISS-T y foe ) LISS-1 ¢ fae 3) LISS-I ¢ foe ¢) LISS-1 v fde
LISS-II © fde LISS-II ¢ fae LISS-II ¢ fde LISS-II ¢ foe
LISS-IIT © fde LISS-IT ¢ fde LISS-III ¢ fde LISS-III ¢ fde
PAN ¢ fdc U ¢ fde PAN v fie PAN ¢ fic

Which of the following is a correct match of the radiometric resolution of cameras on-board IRS
satellites ?

1) LISS-17 bit 2) LISS-I8bit 3) LISS-18 bit 4) LISS-I17bit
LISS-1I 7 bit LISS-II 8 bit LISS-II 8 bit LISS-II 8 bit
LISS-IIT 7 bit LISS-IIT 8 bit LISS-IIT 8 bit LISS-IIT 8 bit
PAN 6 bit PAN 6 bit PAN 7 bit PAN 6 bit

SuErAT IRS 9A T 1D Hifefddilel A=Al saaieia Rellegemd I/ SJevft siicr.

9) LISS-T w4 d ) dq ¢ # 3) U9 4. Ht 8) Pan 94.¢ #
LISS-IT 3€.34 =t LISS-T wR.4 =t LISS-T ©R.4 =t LISS- v2.y =t
WiFS a¢¢ LISS-II 3%.3y # LISS-II 3g.:4 # LISS-II 3.3y #

WiFS 9¢.93 #t WiFS 9¢.93 =t WIFS a¢c¢ =t

Identify the correct match of spatial resolution of sensor of IRS 1A to 1D series of satellites.

1) LISS-172.5m 2) Pan2.8m 3) Pan5.8m 4) Pan 15.8m
LISS-1136.25m LISS-172.5m LISS-172.5m LISS-172.5m
WiFS 188m LISS-1136.25m LISS-1136.25m LISS-1136.25m

WiFS 18.13m WiFS 18.13m WiFS 188m

TE § 9 7T & JAURISNITS! SUYwh ULAHIE : A fase / €3
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URATT gals SRATREUTT B @lofleTdhl DIt FERAT e ?

a) sfeT TR BRY b) ST WR A% ¢) TH.3TR.TH.T. d) M. g,
g IR :
9) %eh (a) ) Beh (a) 31T (b) 3) Rl Jd SRR g) (a), (b) 37T (c)

Which of the following agency do aerial Photography Work in India ?

a) Indian Air Force b) Indian Air Survey

Answer options :

1) (a) only 2) (a) and (b) only 3) All are correct 4) (a), (b) and (¢)

cgfceal URTET ThICHITHIET AR IR hefl Sl TaT SUART Jéia HrRIme! gidl.

a) BICHMfed e b) e it

c) TIAP B TIR O] d) HiaR s quroft

gt SR :

q) (a), (b), (c) 3or (d) ?) (a), (b) 3T ()

3) (a) 31T (b) 8) (a) 37T (c)

Vertical aerial photography is used in cartography. It is used for the following function.
a) Photogrammetric surveys b) Film making

c¢) Preparation of Topographical maps d) Power line Inspections.

Which is/are correct answer ?

1) (a), (b),(c)and (d) 2)(a), (b) and (¢) 3)(a) and (b) 4) (a) and (c)

foreT qut FawY gaTs BRI ae-TaTe! PRI gARGdtelT BIvrdT T aTaRalT STial 2

9) g Q) Tefrst 3) dre 8 ) TosT
Which colour is used for reading false color composite aerial photographs of healthy plants ?
1) White 2) Pink 3)Red 4) Black

SIATfcres Afcgie Ui Yuletidiel (S.0H.00.WT. ) el-RT 81 SUUE PIUIcaT <2l 3178 ?

9) 3mRar Q) M3 3) dH ¥) YRT

To which country the GLONASS satellite in the Global Navigation Satellite System (GNSS)
belongs ?

1) America 2) Russia 3) China 4) India
) Oifgedt g HAUNUT 9as /RIS
fofear ofs iR 'feieet Sfear HaRe’ 3RY ATHERUI dhegl PRUATT 3MTed ?
9) LR 090 ) IR Q09¢ 3) 3ffFeiaR 2090 ) TegsR 090

When was Media Lab Asia renamed as Digital India Corporation?
1) September 2017  2) September 2016 3) October 2017 4) November 2017

QRTAT BIIATT DIV B Feldgl b AFed Taid TRUIT RIS 318 ?

9) ®eq R0 ) P << 3) P R0 A 8) dAq ¢ A
Which section of the Evidence Act provides for drawing the presumption as to electronic messages?
1) Section 90 2) Section 88 3) Section 90 A 4) Section 88 A

TE § 9 7T & TAURISNITS! SUYwh UAHIE : AT fase / &3
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QRTET HRISTAT P R0 37 TAR Seldgl b bis IR pedilee Teid URel STids 2] SR GiudsT 31iel R,
q) 90 a¥ S R) 4 ¥ 3) 30 @ S 8) 92 a¥ S
Presumption as to production of electronic records as per section 90 A of Evidence Act may be

drawn if the document is :
1) 10 years old”’ 2) 5 years old 3) 30 years old 4) 12 years old

............ g GRUTCHD PRITR fIuRid IRUMA axuaT= &/dT 3RTSe! Pl aRRRu fdhar g

q) I R) AW 3) @BHERESC! g) feRfSal sfies@ ol
............ means any condition or event that has the potential to adversely affect organizational
performance

1) Threat 2) Safeguard

3) Vulnerability 4) Video Recognition System

IRPIS R T ThRy HEY Wiosles Yeh! DIV Th{AT TSI dTORS S ?

9) a3t IR Q) W I I} IR 3) AT MNdG YUMST 8) Beh () TR
Which of the following scanning technologies are used in barcode readers and scanners?
1) OCR 2) MICR

3) Voice recognition system 4) Only (c) is correct

Sft. 3. M, (GEO) 31for Sft. T, 31, (GSO) SuigedT SRS a1 694 fag TeRIFR Tl Afcaie
RO AT (ISRO) o DI SUR TR Pl 38 ?

q) =rferes g R) T 3) fraia 8) PR

G.e. O, (Rage)and G. S. O. Which solution has been developed by ISRO (KHATHIJ) for navigation

in the Indian Ocean region using combination of (RJ) satellites?
1) Navik Chip 2)Gagan 3) Geospace 4) Kasar

TSIBID! PureT T edd AL, FoaTi IR Aacud 3Rds HUNU JRf SxuATd Il ?

q) afdhe Rafim Feah R) HHS feafer Aead

3) e RARIT Yeah ¥) Eio AR e

In which of the following switching networks, a continuous communication path is made from
start to end?

1) Circuit switching network 2) Message switching network
3) Packet Switching Network 4) Virtual Switching Network

ADC #efier 3ifcH scfid a/an......... 3 SN 3fSTeat wrmefiel Rivevad SI-R) BhiHHed HUTaR deal.

9) TP R) aRHAT 3) T ) T
The final block in ADC is a/an .......... that converts signals from digital form into binary form.
1) encoder 2) quantise 3) hold 4) sample

RIS TR TRl SIUIR a¥ieT fomg &R <ofad ?

9) gfgder Q) 3RS glex 3) Rt diga Q) AlHIss Pisct
What does the above symbol, which is used in ladder logic, indicate ?
1) Indicator lamp 2) Overload heater 3) Relay coil 4) Solenoid coil

e § 9 7T & GURIERTTO! SuYwh FeIE : A s / &4
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GTefierdehl PIordT PLC AR TRMd HIT efifed, siaia oM sarcielt Sarg SHIdE 3mg ?
9) Y Th ) BRADIUT 3) YT b ¥) 3TSCIC Fh
Which of the following PLC operation step involves communication with programming terminals,
internal diagnostics etc ?

1) Input scan 2) Housekeeping 3) Programm scan 4) Output scan

Greflel faemran faeR e,

37) AfhT Foed Tl ol Ao HdgT dxdl.

q) FifSp aes GAURIT A=A Fofdl aTHR Fod Fded Il

%) Wfhd e feaaTeRIaR BNE! e .

$) Fifepy Heigep theh foawT dae Rl

R Do T/ AU SRR 311g/3Med ?

9) ek 3 Q) Wk 3F 3T § 3) 31, § MM & ¥) TR T
Consider the following statements.

a) An active sensor senses by using its own energy.

b) A passive sensor uses energy from the sun to sense.

¢) An active sensor sensing during the day time as at the night time.
d) A passive sensor only sensing during the day time.

Which of the statements given above is/are correct ?
1)Only a 2)Onlyaandb 3)a,bandc 4) All of the above

SeRHCaR G NUTIRATS! aTuRedT SITOT=IT U b FgUTdTe ?

q) 3REfed ScI e} Q) 3R IPiS Alhex

3) UHFHI Pls clheR 8) g RART alldex

What is the address used to locate a resource on the Internet called?

1) Discontinuous data locator 2) Discontinuous record locator
3) Uniform Record Locator 4) Uniform Resource Locator

HIores Sieviiciel g SueRuimefiel ST FUNU Wieiiclidh! HIVITIBR el ST ?

9) Rt~y (T feam) R) T Swiad (Thdes T fem)

3) R gl ¥) TP T

In terms of the data communication, the data communication between 2 devices can be

1) Simplex 2) Half Duplex 3) Full Duplex 4) All of the above

fefrea Sfean siaqfa s gfaer aram et e et ufifsha e SurRt St RIed daR dhetl
IR TG ... 31T,

9) Reral A sRwHe e ?) YeH sRHe R

3) e sRwve e 8) Rereg srRiwc R

The following tool was developed under Digital India to collect feedback of e-services provided
by government rapidly. The interface is known as

1) Real time Assessment System 2) Random Assessment System
3) Rapid Assessment System 4) Reserve Assessment System
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TS BIFGET ... T IIATERUMET THR Rdlel AT SI1Ss Tahal.

9) s = Q) 3MYfrh FIUH

3) faaRa dmvE Q) eI prargr Arer
Mobile computing environment can also be considered as the type of

1) Grid computing 2) Modern computing
3) Distributed computing 4) None of the above

TTefiedohl M@l S JE&d: BT JeMTScHIo! alRal S,

9) HeT Fewk Q) T FeeR 3) 99 AR 8) dRIGTIDH BrErgr ATal
Identify among the following which is mainly used for host website.
1) Mail Server 2) Logical Server 3) Web Server 4) None of the above

IR Weldiel oidh STl UfeelT TRINT hR—IAT STTRITT PIUICAT aS| ehRudTd 37T ?
9) A 9%0% Q) A 9%¢&L 3) "/ 9]%R% ¥) A 9]0y

In which year the First experiment of lake tapping in Asia was done in Koyna reservoir ?
1) March 1974 2) March 1967 3) March 1999 4) March 1975

I
(3) SIS, WAL IOI SfeRIS AT

-3 3-% 8- 4=y gy

-9

3) 3ieRT® fagm= |, Sfidivw, Sfemd
-2 3-9 ¥-3 4-g €-3 9-3 -9 -9 90-9
92-9  93-9  9¥-3  94-9  9§-2  9V-8  9¢-9  9%-9  0-9
RN-¥ W-3 W

) AT T AT dosT= / IRt
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